20184:3H16H ik 1R 3% L

1R 38t 1200m 4#— b - C\ & 130, 45.5, 26, 19.5, 135M ’
— s 2 £ R 115 9 BRISEMBESR 534 138 434 22 544 13 444 12 i }
YS5ILy FR I B4 L BF 1:15.3 L—25y JIER : SHS 76 SWM 60 SSS 54 SSM 40 Grant J
PEEE | PEEYR | BEXES F 3R HTE=RER }Eﬁa BiBE GE, T, &) B 2TE=L—R% I/ F4vT 95 3IE= %IIE EH - BE - AR st
B F | HEEHEZT|S £2651237 EAE -8 BFE-FE 2. 3. 4AEBIERL 5TE=iEH- 2 EiHikEE 244 EAYS
26 | B 2 |EnEE/Fe|m  4EUT | & ABiI3F - ffi3F(H1$L‘ MFEH, SELY)  HTER¥S3 FML ﬁﬁﬁﬁ‘ﬁﬁ Ay-h~4f - 3F~AF - 1{3F(5~1) +Y 3 FIREL
WE | £ 5 | F12008% (s B | BB e | L—ALYSFRAL - HBROLYSFSAL > 05 oBAFRT IFE=1EEXE2%EE GER) 1. 2. SEEOMH
BAoX | BEAM | 274 AR | @ BerR| M2 5 HiE WA 3R 4FERT 53R
53|16 B A:::: |MF0004|F=0003 180209 18 & A | 180202 13 & ) | 18.01.19 14 & #ofs [17.07.25 14 & Jods | 17.06.23 13 & Wois
(L AH0.000 |F 0001 | 3HKZHE 3% |50.0F 3% Sﬁ’gixﬁ 3% |38.0TF M | AT 5
54.0 .206 JIA0.0.0.1 [ Fm0.0.0.1 |6 938 9% 8A K4 |6 103 8% 6A 4 |8 58 1% BA a%m 9 1088 6% 3A 7 108E10% 5A K5
T[] a]®oq bR b E | B M 1180 | 4 0.0.0.0 | F750.0.0.0 | 478 -1 KiF% 54 @O@ | 479 -6 XHik 54 @@ | 485 +7 EJEE 54 ©O@W | 478 0 AiB% 54 @OW| 478 KiEE 54 [©6)
(FHF—rF2Y) A5 . 286 #F4 1180©) | E4 0.0.0.3 [ F+0.0.0.0 | 1200m 4 4 1:18:0 40.8 | 1400m 4 7 1:35:2 42.0 | 1200m & F 1:20:2 40.8 | 1200m & B 1:21:1 42.6 | 1000m % % 1:04:8 40.5
———[%]] 0.0.0.5 | 0002 | £50005 |- -©0-®| SSS 36.9-39.8 343 (5) | SSS 41.0-38.9 421 (6) | SWM 37.2-38.6 221 (6) | SSS 36.7-40.2 221 (7) [ SSS 36.8-38.4 431 (8)
BARIME 0.0.0.0 | #0502£0580 | £ 0.0.0.0 | 4458 000 1|5 n92(1.3) KWkIB | A vb MY (3.4)  BRSESE | T4V -h-on (4.4) wkSek | ¥R 4Y (4.2) HEE | FoE-2.2) Zikk
7 RRANL—> 3 H0000 | F¥=0000 [1803.01 13 & JIB |18.02.02 11 & JIW& |18.01.05 13 * JIE | 171215 T
So—H RS y— A40.0.00 |F 0000 |39.0F 3% |50.0F 3| | BlE (R 3% | BEEL
v e 40003 | Fm@0.003 |6 1058 3T OA 7 108810 BA K5 |6 658 6% 4N 658
A 2 FAVIENFE) 3 H40.0.0.0 | FR0.0.0.0 | 474 +4 [UH(E 54 @G| 470 -4 ILHIE 54 @DD| 474 %H& 54 @GOG | 484 XFHH
CEENUIZ B0 40002 | F£0.0.0.0 [ 1400m % 7 1:36:9 45.0 [ 1400m & 7 1:37:4 42.9 | 1400m &% F 1:38:4 43.3|800m &4  54.5
%] 40003 | -®---@--|SSS 38.4-42.4 411 (9) | SSS 41.0-38.9 221 (7) | SSS 40.5-41.0 431 (6)
BEHEFT 20000 |18 0000 H4y -t Hp) (4. 1) kkiE | & sp £ 09 (5.6) @k | 7 234(3.6) Sk
Tl R~f O— H3 ;o 0.0.0 | F=0.0.00 |18 oiz 27 e
N _ 0000 [ F 0000 |#ES
FrELF—I %0000 | F0.0.0.0 458
3| F—ILFa B A 0.0.0.0 | F750.0.0.0 | 460 Llrhig
(BA4F2 % bIL) EA0.000 [ F£0000 [800m 5 523
.0.0. 250000 [ oo
CPN: 0.0.0.0 | 30500580 | £ 0.0.0.0
7 RRAYSx Ry H3| 11 B[ A:::: [MBF000T |[F=0002 |1802.16 16 & &M |18.0200 14 # ks |18.01.12 15 & @M [18.01.05 14 * g |17.12.22 1 & &M
LB —S4Hy k BAE x50001 |F 0000 |740F 3% [ 40.0F 3%k |[53.0F 3w | RBEX (2 3% K1) —LF #E
e 2 J 56.0 . 091 NF 0001 | Fmo002 |9 1288 8HIA 11 1288 1%12A _Bm [ 10 11EI0BIA Kok |5 58 5% 5A 8 ~ omE 4% 8A
4 EXUNIIMCRVES D) Z | a2 BATE 1200 | 4 0.0.0.7 | F750.0.0.0 | 447 +4 BB 56 443 -1 1BAE 56 QOM | 444 0 HAE 56 QGO | 444 -4 HBAE 56 @D@ | 448 0 FEM:E 53 @®
(NgRY5 ) A 005 ANEE 1200D | A 0.0.0.3 | FH0.0.0.0 | 1400m 4 #§ 1:35:2 41.2 | 1200m 4 # 1:20:9 42.5 | 1300m 4 # 1:29:2 41.9 | 1400m & ER 1:38:7 43.1| 800m % ¥4 0:51:8 37.8
——[#]] 00010 | %0002 |£400010 |- @b --|SSS 38.2-40.7 243 (8) | SMS 36.6-40.2 131 (11) | SSS 39.7-40.2 322 (10) | SSS 41.9-41.0 432 (5) [ SSS 36.3-36.2 222 (6)
SRERRS 0.0.0.4 | 305020580 | £ 0.0.0.0 | 38 0002 [ /-7 05450 (2.4)  k%E | My @4.1) ks | 4hq4F7 52 4) Sk | bo-F444(2.5) bivhi f-#40-4 3. 1) bist: i
JT—)LFAfO— 43 Iﬁz % Bl & 'ﬁgoom F=10.0.0.1 13&02.09;7‘13 E P/g;g 1%()){1 23 s
=~=__ Ik 0.0.0.0 [F 0.0.00 2H REE
ETLEI5—3m 56.0 .175 JII40.0.0.0 | Fm®0.0.0.0 |8 958 2%& 5A W 438
515 a1l €£va—7rozn i | HEkE HATE 12060 | 4 0.0.0.0 | F750.0.0.0 | 480 IRES 56 483 RMAS
(FRSNHR) AAHE 138 AMEH 1206@® | B4 0.0.0.0 | FH0.0.0.0 | 1200m 4 # 1:20:6 42.9 | 800m &  52.0
«—[#]| 0001 | 0001 |£540001|----® --|8SS 36.9-39.8 221 (8)
AT 0.0.0.0 | #05£0%0i80 | £ 0.0.0.0 | 48 0000 | 0/ 92 (3.9) kB
TIHARIUF o3[ 18 ©:::: |MZ0004 |F=0003 180209 18 & Ms |18.01.19 1] & ks |17.12.14 13 * JIB& [17.12.07 13 ¥ fars [17.07.24 10 ¥ #iE
B Fp N K400.00 [F 0001 | 3BKXTH 3% | SMARE 3% | 19.0 2% |38.0 2% |UTRUR 5
A 56.0 .208 N5 0001 | Frmo0.0.0.1 |4 9 6& 6A 6 1088 2®IOA M |7 9mE2E6A M |9 1138 6F OA 8  9FE 3% OA
Q60 [vausvsa HE | PR BATE 1178@ | 47 0.0.0.0 | F750.0.0.0 | 471 -1 /Mgt 56 Q@D | 472 +6 /g3 56 ©O® | 466 -3 FIME 55 @@ | 469 +3 WAL 55 @@ | 466 # £ 54 @®
(7 RRA4¥TYIR) BatE 228 #0EG 1178@ | A 0.0.0.1 | F+£0.0.0.0 | 1200m 4 # 1:17:8 40.8 | 1200m 4 T 1:18:9 40.4 | 1400m 4 B 1:37:0 41.8 | 1200m & & 1:19:3 41.1 | 1000m & E 1:06:2 40.1
«—[#]| 0005 |£0001 [£50005|----@ -®|SSS 36.9-30.8 523 (5) | SN 37.2-38.6 332 (4) [ SSS 40.4-41.1 213 (4) |$SS 37.2-30.5 212 (8) [SSS 36.5-38.8 222 (7)
BBRIK 0.0.0.2 | 302020380 | £ 0.0.0.0 | 458 000 1|0 MA(I.1) BB | T AV -h-In 3. 1) B | IxT4TUVAG. 1) ESkE | IxTTUUAQ2.6) KEE |V VA -F@B.2)  EkE
7 RRAY L= H3| 16 O:::: A% 0.0.0.1 | F=0.0.0.1 |18.02.09 13 & #ats | 18.01.23 fatE
7v1y—7 i ECH A%0.000 | F 0000 | 3FmKZTE 3% | BE
56.0 .458 JI40.0.0.0 | FH0.0.0.0 |5 93F 3% 1A LEE]
17| |vrqar—n z | ng— #F8 11780 | 4 0.0.0.0 | F7X0.0.0.0 [ 464 ##I 56 ©@®O© | 471 ERE
(Theatrical) #815 .351| MMF8 1178 | 4 0.0.0.0 | F+£0.0.0.0 | 1200m % #§ 1:17:8 40.1| 800m %  51.8
——[#]| 0001 | 0001 |£40001 |- -® --|SSS 36.9-39.8 253 (4)
EHE S 0.0.0.1 | #0402£0i80 | £ 0.0.0.0 | s4@ 0000 | 09" nA(1. 1) Pesk3E
FUTRANAN 33 — I 'ﬁgoooo F=10.0.0.0 1%%2.27 s
S f S 3, s ER 0.0.0.0 | F o0.000 |HES
WA S 56.0 .333 JII%0.0.0.0 | F180.0.0.0 458
7|8 HILRTHY = | ek 40000 | /40000 | 495 FERK
(Layman) R . 367 EX0000 | F+0000 |80m % 523
0.0.0.0 £40.000 [ -
HHER 0.0.0.0 | 30502080 | £ 0.0.0.0
RA R n—R— #3 = Z E;o 000 | £=00.00 %i%tz 27 e
= N T 0.0.0.0 |+ o0.0.00 |gES
25viry 54,0 .260 % 0.0.0.0 | F290.0.0.0 458
8|9 PR E A ETIN HE | RER A 0.0.0.0 | F/X0.0.0.0 | 467 EHEE
(R=RZZHYvF—) tg . 412 EA0.000 [ F£0000 [800m & 527
0.0.0.0 250000 [ e
AR 0.0.0.0 | 0500580 | £ 0.0.0.0
N—EoSv— H3 |11 B[ . :::: [MF0000|F=0000 180301 12 & JI#& |18.0202 10 & JIE |18.01.05 15 * Ji#& [17.12.15 JIE]
2XA—STAE— ERE 40000 |F 0000 |39.0F 3% [ 50.0F 3 | KEX (2 3 | e
= ~ 56.0 .129 JI40.003 | Fm@0.003 |8 1088 4% 8A 8 1088 3% 7 4 " 5EE 3% 3A 638
8 (10 HYRFAATUR B | as 4 0.0.0.0 | F750.0.00 |507 +5 #MA%x 56 @O® | 502 -2 HEK 56 @@®® | 504 HEFK 56 GO | 509 WHEIE
(YoRYHYRIR) JIE 120 EHX0.0.0.2 [ F£0.000 |1400m & F 1:38:0 44.3 | 1400m 4 & 1:38:4 43.7 [ 1400m & B 1:38:1 42.2 [ 800m &  54.0
——[#]| 0003 | 20002 [|£40003 | -® --®--|SSS 38.4-42.4 312 (8) | SSS 41.0-38.9 211 (8) | SSS 41.9-41.0 333 (4)
HEB 0.0.0.0 | #05£0%080 | £3%0.0.0.0 | &8 0000 [ 44y -t 9p)(5.2) kB | K v 09 (6.6) 55k | bo-+444(1.9) pisrid
FAHE 5 — I 1200miB %t 55 R (SEETHARS : 2016. 03. 14~2018, 03. 13) BHTE HER SHENE
|[:tod EHES HERES 1F 2%&F 3F &S 23 T % %% 1 2 3 456 7 8
1 RES=E ] 172 12 8 76 0.179 0.282 3 (3%ME) 21 26 25 26 28 28 26 26
2 HYRY4TSR 137 17 13 17 90 0.124 0.219 I
3 J7RYIT 76 14 5 13 44 0.184 0.250 7 FHRSV T/ 2L RAIEG
4 RARLSY 2 1 8 o2 0.286 0.476 7 @ BO%: 247S HIF5EAT (534, 544) ] et
5 SURYHYRIR 107 11 1 16 69 0.103 0.206 . o 1248 BFIE L (434, 445) 1
6 SYZRA—IZRH— 41 6 6 2 0.250 0.386 4 20 woF: 39.4M <Y (255,355) 1 p
7 T R7Ya— 81 1 3 4 63 0.136 0.173 ®9 BALi:1:16.5 5BULVAA (335,245) 1
8 zRa—yr¥o—x 97 0 14 766 0.103 0.247 ==
9 Friad/FEF 7410 8 12 44 0.135 0.243 % @
10 VE=PES 68 10 7 5 46 0.147 0.250 5 ®

= . N FiRZ Mg iz, YHOFERL, HERH, BTAEZE, $NTEEERTOMEREMAELT RS,
2018316 H filiffi 1R 3L V57 Ly F& 3 1200m X—h - A A5 OB, R E T,



